< 00, > (M)

<op/p, > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

r y T T T
SR A

F H Il : !

E ; 5 ]
N X CHELH -
P A O O O O ,
r i5icdi .""'.‘a [ 1]

E f L[ FA [ F4
A

o . S . ]’

w

-2 -1 0 1

3

TP n (PCA to beamline)

o
[N

A r | |
) E : :
(1< R FR | B 1 Fotfe s
© E : :
fie) n -
Vv 0.1:_......|.. - PR A R N J‘ ..............
0,05} +++i+-++{fi- - |ft- S S SR
0;_ .................. .....................
0 YoLc| A RN N | EN |1 R | R TO TR SR
1 NS | | B SO TR SR
—015— R 11 O | Y PO PR
o-0. 2ok ML e
2
F ,:» i {':
M0
3 -2 -1 0

1 2 3
TP n (PCA to beamline)

—=— DQM_MmKFIt_T1origmnar
—e— DQM_mkFit_TTNEW50
—— DOQM_mkFit_TTNEW50-chi2
—— DQM_mkFit_TTNEW50-dpdg

100

A OO @
o O O

20

TT T T T T [TTTI[TTT

aHA

W

0 1 2

3

TP n (PCA to beamline)

o

(@Y L L L L L L L L L L L

0 1 2 3

TP n (PCA- to beamline)

€ “EM: 5 ' 5
2 GORH-AH ] -eedeeeee e g t
A = : : : .
3 60 (i : : :
e} I : : : W
v 4o (g :
20E-(1-(thr IlTikds -~ 1
OF{- [l {Iefdfs TALbr el i
—20E |- 1
—40FH- It - :
=6O0F]:[fl{ 4o
—8OF (|- i e e R R
o 100t
= E TR R ||1T Il
S R R e
R
0: N | {u N R 1
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


